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6. If you know a square number you can find the square root by:
- using prime factorization
- product of perfect squares
- list the factors
- find what number you multiply by itself to get the square number
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Pythagorean Theorem
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Pythagorean Theorem

- Right Angle Triangle has one angle that 900

- the side directly across to the right angle is always the longest side, it is \,bc'
the hypotenuse. 6\2‘\

C“‘\E\Qa’\?’S !

We use "c" for the hypotenuse

- Legs are side "a" and "b" b /
Sihudny - a
Pythagorean Theorem Equation:

(@)2+ (D)2 =(C)2 i nypoonses
%ea\‘foﬂge

(c)-(b)z=(ap e




gr 8 u1 sqgre day 13 Pythagorean Theorem with midunit review solutions.nbtmbmoker 16, 2016

Pythagorean Theorem Equation: CQ "5 gn WA of
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Then to find the length of the HYPOTENUSE

X c=~@7+ by

15 cm

Then to find the length of a LEG

X a=\RZ-(bF

12 cm

11 cm
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Example) on  distvi- assessmend
Find the area of the indicated square:
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Examples: Find the length of the missing side.
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Examples: Find the length of the missing side. Cr=att%
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Find the length of the diagonal of the rectangle. ADD TO
" 1 YOUR
NOTES
1;cm
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